Calculus 2 Test 3 — Summer 2011

NAME _HEY STUDENT NUMBER

SHOW ALL WORK!!! Do not rely on the calculators. Include all necessary symbols (such as
equal signs and summation signs). Justify every claim you make (such as why a series converges
or diverges). The more details you show, the easier it will be to give you partial credit (if needed).
Put your final answer in the box provided, or put a box around your final answer. Each numbered

problem is worth 12 points.

n
1. Consider the series —=] . Does it converge or diverge? If it converges, what is its sum?
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3. Consider the series Z W Use a Comparison Test to determine if the series con-
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4. Con31der the series Z (771—1)! Use the Ratio Test or Root Test to determine if the series

n=1
/Iﬂ § 9‘) converges or diverges.
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1 n
. Consider the series Z e \)/ﬁ Does it converge absolutely, converge conditionally, or diverge?
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6. Consider the power series Z( —-1) "“15%*—1. FFind the radius of convergence.
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Find the Maclaurin series (that is, the Taylor series at « = 0) for f{x) = e~*. Show details and
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the computation of the nth derivative.
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8. Use series to evaluate lm% ——5————
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. HINT: The the series for f(z) =e"is ) %—
n=0

“.‘ pee 1‘ y

87

o El ) )
3:(-:»0 X e
“rex 2 ﬂ)
T jfif-w " o < ( nl!
;{") 5} e ﬂ}()ﬂ T
L ox Xt ST
A Y XA =
. f !




o0 1
Bonus. Consider the series Z . Z(;)—(l;z l 3)°
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Does this series converge or diverge?

i -y w?
RS0 7 (/A nt L ) orrse g (L )1 #0
e R T e Tt 2. - '
R 2wt o oy -~ P

| \ i
' 0o uW . /J g €5 Asp %‘v*"‘z{ﬂ-u .
/%r* r’g]/ /?)Zh ﬁw@w’f ;/’; et }Zj"n‘jfff g 7o

}.ﬁfﬁ €t Fon




